API NO. _007-22465_

County __Barber_

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM

| DESCRIPTION OF WELL AND LEASE | |
|--|--|
| Operator: License #5447 | 500 Feet from X/N (circle one) Line of Section |
| Name:OXY USA Inc | 2180 Feet from E/X (circle one) Line of Section |
| AddressP. 0. Box 26100 | Footages Calculated from Nearest Outside Section Corner: XX, SE, XX or XX (circle one) |
| City/State/Zip Oklahoma City, Ok 73126-0100 | Lease Name |
| Purchaser:Texaco Trading & Trans | Producing FormationMississippi |
| Operator Contact Person:Jerry Ledlow | |
| Phone (_405_)749-2309 | Elevation: Ground 1703 KB 1712 |
| Contractor: Name:Duke Drilling | Total Depth5310 PBTD5163 |
| License:5929 | Amount of Surface Pipe Set and Cemented at1093 Fee |
| Wellsite Geologist:Douglas McGinness | Multiple Stage Cementing Collar Used? YesXN |
| Designate Type of Completion | If yes, show depth set Fee |
| _x_ New Well Re-Entry Workover | If Alternate II completion, cement circulated from |
| OilSWDSIOWTemp. Abd. XGasENHRSIGW | feet depth tow/sx cmt |
| X Gas ENHR SIGW Other (Core, WSW, Expl., Cathodic, etc) If Workover: | Drilling Fluid Management Plan ALT 1 3-26-96 14 (Data must be collected from the Reserve Pit) |
| • | Chlorida cantanta 1200 ann Fluid value 500 1111 |
| Operator: | Chloride content1200ppm Fluid volume500bbl: |
| Well Name: | Dewatering method usedEvaporation |
| Comp. Date Old Total Depth | Location of fluid disposal if hauled offsite: |
| Deepening Re-perf Conv. to Inj/SWD Plug Back PBTD Commingled Docket No | Operator Name |
| Commingled Docket No Dual Completion Docket No | Lease NameLicense No |
| Other (SWD or Inj?) Docket No. | Quarter SecTwpS RngE/W |
| 11/15/9412/8/942/28/95 | ············· |
| spod bate bate keached to completion bate | County Docket No |
| Room 2078, Wichita, Kansas 67202, within 120 days of Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the | t be filed with the Kansas Corporation Commission, 130 S. Market f the spud date, recompletion, workover or conversion of a well. side two of this form will be held confidential for a period of e form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS ILS. Submit CP-111 form with all temporarily abandoned wells. |
| All requirements of the statutes, rules and regulations promul with and the statements herein are complete and correct to the | gated to regulate the oil and gas industry have been fully complied ne best of my knowledge. |
| Signature TitleStaff Analyst Date Subspribed and sworn to before me this 20 day of Mar 19 Notary Public | K.C.C. OFFICE USE ONLY Letter of Confidentiality Attached C Wireline Log Received Geologist Report Received Distribution KCC SWD/Rep NGPA STATE KGS SCENE Plug Other |
| 8-2161 | (Specify) |
| Date Commission Expires () 2/-76 | Bano Mission |

CONSETIVAL TOUR WIGHTAL MANERS

| SIDE T | W O |
|--------|------------|
|--------|------------|

| Operator Name | | ्रो जो | Lease Name | Sooter A | | Weli # | 2; |
|--|-----------------------------------|---|--|---|------------------------------------|-------------------|--|
| Sec2_ Twp345 | Rge14_ | ∸ East -X West | County | Barber | | | |
| INSTRUCTIONS: Show interval tested, time hydrostatic pressures if more space is need | e tool open am , bottom hole m | nd closed, flowing temperature, fluid r | and shut-in pres | sures, wheth | er shut in pre | ssure read | hed static level, |
| Drill Stem Tests Take (Attach Additional | | ☐ Yes | [X] Log | Formatio | n (Top), Depth | and Datums | □ Sample |
| Samples Sent to Geolo | gical Survey | ^X] _{Yes} □ No | Name Elgin Zon | e | Top 3786 | | Datum - 2068 |
| Cores Taken | | Yes No | Heebner Lansing | | 3971 4159 | | - 2253 - 2441 |
| Electric Log Run (Submit Copy.) List All E.Logs Run: | | | Base/Kans Mississip | Kansas City 440 Base/Kansas City 464 Mississippi 477 Kinderhook 499 | | | - 2686 - 2925 - 3006 - 3275 - 3301 - 3349 |
| Dual Induction Focused Z-Densilog Compensated Neutron Minilog Gamma Ray | | | Viola Simpson Simpson S | Viola | | | |
| | | CASING RECORD | · (X ₁ | | | | |
| | Report al | l strings set-condu | New U | sed ntermediate, | production, et | c. | |
| Purpose of String | Size Hole Drilled | Size Casing Set (In O.D.) | Weight Lbs./Ft. | Setting Depth | Type of Cement | # Sacks Used | Type and Percent Additives |
| Surface | 12 1/4" | 8 5/8" | 24 | 1093 | See 1* Below | | |
| Production | 7 7/8" | 5 1/2" | 14 | 5309 | See 2* Below | | |
| | | | | | | | |
| | ADDITIONAL C | EMENTING/SQUEEZE RE | CORD | | | | |
| Purpose: | Depth Top Bottom | Type of Cement | #Sacks Used | | Type and Percen | t Additive | s |
| Protect Casing Plug Back ID Plug Off Zone | & 1/4#sk f *2 125sks 65/ | 735 Class A Pozmix w Flocele. Cmt'd top c 735 Class A Pozmix w ozmix w/2% gel, 12% | of csg w/135sks C w/6% gel, 1/4# PP | lass A w/2% S flo-seal, | cacl & 1/4# Flo 5 PPS Col-seal, | cele. followed | by 220sks 50/50 |
| | | | | 1 | | | |
| Shots Per Foot | | # RECORD - Bridge Pl ge of Each Interval | | | Fracture, Shot, d Kind of Mater | | ueeze Record Depth |
| 4 | 5228-5230 | | | Acidized w | /2000 gal 15% F | Ε | 4842-80 |
| | CIBP @ 5190 | | | Acidized w | /3000 gal 15% F | E | 4724-80 |
| 1 | 4842-4880 | | | Frac w/86, | 850 foam & 156, | 000# 12/20 | |
| | | | | sand. | | | |
| TUBING RECORD | Size 2 3/8 | Set At 4720 | Packer At | Liner Run | ☐ Yes ☐ | No | |
| Date of First, Resum | | , SWD or Inj. Proc | ducing Method | lowing D _{Pu} | mping Gas L | ift 🗆 ot | her (Explain) |
| Estimated Production Per 24 Hours | oil 32 | Bbls. Gas 78 | Mcf Wate 48 | r Bbls. | Gas-Oil | Ratio | Gravity |
| Disposition otages: | METHOD OF | | · · · | | duction Interval | |). |
| Vented Sold (If vented, sub | Used on to omit ACO-18.) | | n Hole ^{[X}] Perf. er (Specify) | Dually | Comp. Comm | ingled _ | |
| | | - otne | (apecity) | | | - | |

·

ALLIED CEMENTING COMPANY, INC.

NY, INC. ORIGINAL

913-483-2627 P. O. BOX 31 RUSSELL, KANSAS 67665

E0640)

| lo: | OXY USA Inc. | Invoice i | No6 | 7970 |
|----------|--|-------------------------------|--|-------------------------|
| | P. O. Bo: 26100 Cement | Purchase | e Order No | |
| | Oklahoma Cit., Ok. 83126 | , | ame s | Sooter A-2 |
| | <u>9-1573257×23</u> | 60.1/724 Date_ | <u></u> | Dec. 6, 1994 |
| Samilar | | | 7 - 1 A F. 1 - 1 - 1 - 1 | 640 |
| Service | e and Materials as Follows: Class H 110 sks @\$7.21 | ∧\$ 793.10 0.5 - | | u |
| | Pozmix 110 sks @\$3.00 | × 330.00 | ≛r | |
| | Gel 4 sks @\$9.00 | 36.00 | | |
| | Chloride 3 sks @\$25.00 | 75.00 W | | 9 ° . • 6 |
| | Lite wt 155 sks @\$5.20 | ≈ 806.00 91.00 <u>32</u> | <u>, ,</u> , , , , , , , , , , , , , , , , , | 000 |
| | Salt 13 sks @\$7.00 | 91.00 | | 4 5 |
| | Floseal 94#@\$1.10 | 103.40 | · \ | hill |
| | F1 10 92#@\$6.91 | × 635.72 | 1 | V NAS |
| | Kol seal 1875#@0.36 | • 675.00 ³ | | |
| | Mud Clean 500 gal @\$0.55 | ~ 275.00 | Ş | 3,820.22 |
| | Handling 375 sks @\$1.00 | 375.00 | | |
| | Mileage (20) @\$0.04¢ pe sk per | | | |
| | Product on string | 1,170.00 | | |
| | Mi @\$2.25 pmp. trk. | 45.00 | | |
| عسم کا | 1 plug | 45.00 | | 2 010 00 |
| | oun दिनिस्तिता, a | 75.00 125.00 | | 2,010.00 |
| | unt of \$ 1.423.85 1-5½" g. shoe | * 315.00 | | |
| \ | E Allowed Olyki II | 20.00 | , | |
| Raid V | Wilhin au Davs Fram - | 30.00 | | |
| Date o | 1 thd. lock | • | | |
| | 1 basket | Thank You! - 672,00 | | 1,289.00 , 0 |
| All Pric | tes Are Net, Payable 30 Days Following Date of | Invoice, 1/2% Charged Thereon | ifter - | 7 119 22 P |
| | | area in a part in the | men nist | 423.852, h |



MAR 2 2 1995

GONSERVATION L SIÉM

ALLIED CEMENTING CO., INC. 0913

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

ORIGINAL

SERVICE POINT:

| <u> </u> | | | | |
|--|------------------|--------------------|---------------------------------------|---------------------------|
| DATE 11-27-94 SEC. TWP. RANGE C | ALLED OUT | ON LOCATION | JOB START | . A. |
| | | | COUNTY | STATE |
| LEASE Scoter A" WELL# 7 LOCATION Brooch | pel Church 6. | <u>a, 1/25, 2w</u> | BArbe | 1 <ansas< td=""></ansas<> |
| OLD OR NEW Circle one) | | | | |
| CONTRACTOR DUKE DNG REG #5 | OWNER | Ox. 1 | SA IN | А |
| TYPE OF JOB SUPFACE | _OWNER _ | _ = × v | CEMENT | |
| HOLE SIZE / 2'/4 T.D. 1105 | | | CEMENT | |
| CASING SIZE 85/8 DEPTH 1097 | AMOUNT OF | RDERED 350 6 | 5/35 6% Gal | 3% CACL 2 /4 # |
| TUBING SIZE DEPTH | | K - 335 +K 1 | | |
| DRILL PIPE DEPTH | Flo- SEAL/: | | | |
| TOOL DEPTH | | | _ | |
| PRES. MAX MINIMUM MEAS. LINE SHOE JOINT 41 | COMMON_3 | 335 | | r_192625 |
| MEAS. LINE SHOE JOINT 41 CEMENT LEFT IN CSG. | POZMIX _ GEL | | @ | |
| PERFS. | CHLORIDE _ | 17 | @ @ <i>S50</i> 0 | 300.00 |
| TERIO. | | 2. 350 sk | @ <u>\$5,2</u> 2 | - |
| EQUIPMENT | Flo-SEAL | 171# | _ @ 1 · 18 | |
| The transfer of | | | | |
| PUMP TRUCK CEMENTER DEAL R | | | <u>'</u> '@ | |
| # 255/265 HELPER CARUS | | | ://@ | |
| BULK TRUCK 21 CEST : | HANDLING | 685 X 20 X 04 | -4@ □/986 | - |
| #256/250 DRIVER MARKS | MILEAGE | 600 X 40X 64 | | 548:00 |
| BULK TRUCK | | - | · · · · · · · · · · · · · · · · · · · | CU/772 |
| #257/251 -DRIVER Jow K. | | | TOTAL | <u>. 5467.35</u> |
| I received | | , | *** | |
| REMARKS: | | SERV | ICE | |
| LOST RETURNS WATE DITHER 870' | | • | | |
| RAN 83/8 (36 TO 1097'- TENEUTED WITH | DEPTH OF J | OB 1097 | | |
| 350 54 65/35/66 (324, 36 COC) 14# Flo STAL Follows | | | -300 | 430.00 |
| by 200 = x Class A 376 CACLE, 14# Flo-STAL | | TAGE <u>797</u> | _@ <i>3</i> 9 | 310,83 |
| D=5A flug TO 1056 WITH 67.25 BBS | MILEAGE | | @_ <u>_2.25</u> | 45,00 |
| HO- COMENT DEDNOT CARCULATE AFU HELD | PLUG <u>1-85</u> | 8 Top Rubber | @ <u> පි3.ထ</u> | 83.00 |
| KAN 150' OF 1-TUCH - TOPED OF WITH | <u></u> | | | |
| 135-5x Class A 3% CL; /4# Flo-SEAL/SIK | | | | |
| | • | | | R/007 |
| CHARGE TO (1)5A TO | | | TOTAI | _ <u>868.83</u> |
| CHARGE TO: CXY USA INC. | | | | |
| STREET 110 5 MAY 2 #800 | | FLOAT EQU | JIPMENT | |
| CITY WICHER STATE KANSAS ZIP 67202 | BAKER | 85/8 | | |
| | 1- A, F. | U | @ .258.a | 258.00 |
| ÷. | 2-CENTR | ALTERS | @_61.00 | 122.00 |
| | 2-BASK | ÉTS | @ <u>_180_</u> 20 | <u> 360.00</u> |
| | <u></u> | | @ | |
| | | | @ | |
| _ | | | | 7//- |
| | | | TOTAL | 140.00 |
| | | | ٠., | 3 HATION CO |
| | TAX | | <i>M)</i> | R 2 2 100 7 5 |
| To Allied Cementing Co., Inc. | TOTAL CHA | RGE フクフ | 6.18 | ~ ~ 1995 ~ |
| You are hereby requested to rent cementing equipment | | NOE | | 12N Buns |
| and furnish cementer and helper to assist owner or | DISCOUNT | | IF PA | ID IN 30 DAYS |
| contractor to do work as is listed. The above work was | | | | |
| done to satisfaction and supervision of owner agent or | | 1415. | 20 | |
| contractor. I have read & understand the "TERMS AND | | | | |
| CONDITIONS" listed on the reverse side. | , ^ | . / | | |
| | nothy J. | Voso. | | |

ORIGINAL ALLIED CEMENTING CO., INC.

| REMIT TO P.O. E | | ANSAS 676 | 65 | | SER | VICE POINT: Acoreras 12-7-94 | cloose Ks |
|--|------------|--------------|-------------------------------------|----------------------------|-------------------|-----------------------------------|--------------------|
| DATE 12-6-94 | SEC. | TWP. | RANGE 14W | CALLED OUT | ON LOCATION | JOB START 7:45 A | JOB FINISH 9:30 |
| LEASE SOOTER | WELL# | A-2 | LOCATION HAROTO | · - (| T. 13 T. A. | COUNTY | STATE KANSAS |
| | | | LOCATION PARTIE | ri ouj injaw | ENTO | NAIDEI | 1740307 |
| OLD OR(NEW)(Ci | rcie one) | · | | <u> </u> | | | |
| CONTRACTOR (| DUKE | Drlg. F | Rrs # 5 | OWNER | OXV D | SA INC | • |
| | ~ | CT FOR | C56. | | | CEMENT | |
| | 18 | T.D | | Spoßals | MUDCLEAN | | |
| · | ークユ | DE | PTH 5310 | AMOUNT O | RDERED (555K | 65/35/666el, | 14 = Flo-SEAL |
| TUBING SIZE | | DE | PTH | | 1- 2205K 50/51 | | |
| DRILL PIPE | | DE | PTH | 1005%FL-1 | 10,1% CACL2, 1/4# | F/0-STAL, 5# | KOL-STAL |
| TOOL AFU CO | MAT | DE | PTH 5269 _ | _ | | , | |
| PRES. MAX | | | NIMUM | | Class H Mos | | 793.10 |
| MEAS. LINE | - <u>-</u> | SH | OE JOINT 4090 | | 110515 | @_ <u>3,00</u> | _330.00 |
| CEMENT LEFT IN | CSG. | | | <u>-</u> | 4 | @_ <u>9,00</u> | 3600 |
| PERFS. | | | <u> </u> | _ CHLORIDE | 3 | @ 25,00 | 75,00 |
| | | | | | ht 1555K | @_ <u>5,20</u> | 80600 |
| | EO | UIPMENT | Γ | | 3K | @ <u>7,00</u> | 91.00 |
| | | • * | | | 4# | @ <u>1,16</u> _ | 163.40 |
| PUMP TRUCK | CEMEN | TER NEA | <u> </u> | | 2 # | <u> </u> | 635,72 |
| | HELPER | _ | • | | /87 <u>5</u> # | @_ <u>36</u> _ | 675,00 |
| BULK TRUCK | inclina | CAM | <u> </u> | HANDLING | | @ <u></u> | 375,00 |
| | DRIVER | Tale | aK. | MILEAGE_ | 375×20 | | 300-00 |
| BULK TRUCK | ORI I DI | <u> </u> | N 111 | _ MUO CLEA | in 500 Cal | و ستح | 275190 |
| | DRIVER | 7 | m S. | | | TOTAL | 4495,20 |
| Dans the Con- | | EMARKS: | Office Management | DEPTH OF 3 | SERV | ICE | |
| | | , | DOGAIS MUDCIEAN 155K EA, OF LEAS | ' | CK CHARGE | | |
| 1 | | | WAShOUT PUMPS | | | @ | 1170.00 |
| LINES - REJEASS | _ / | . ~ | PLACE TO 5269 F | , | | @ | 45,00 |
| | | , , | AFU HELD & | | 12 TOD RUBBER | | 45:00 |
| KOTATED ASG | | | | | . , | @ 75100_ | 25.00 |
| Plus | | | | | | | |
| | | | | " | | TOTAL I | 1336 |
| CHARGE TO: | XY U | SAI | NC. | _ | | IOIAL | . <u>1335100</u> |
| STREET QO. | Box | 26 | 100 | _ | FLOAT EQU | UIPMENT | |
| | , | | K/A ZIP 7312 | 6 BAKER | - 1. | | |
| CITY OK 117. | CITYS | TATE | <u>IC H</u> ZIP / 31& | UP Per | OUIDE ShotE | @125. <u>00</u> | . 125,00 |
| | • | | | | O/LAT (Prop BALL) | @ <u>४८:००</u> @ <u>182:००</u> | 315,00 |
| | | | | <u> </u> | - Rizas | @ 20.00 | |
| | | | | | LOCK | @ <u>30.00</u> | 30.00 |
| | | | | 1-BASK | | @ 123.50 | 127.00 |
| | | | | 12-CENT | | @ 56.00 | 672.00 |
| | | NO V FLOA | VARRANTY ON T EQUIPMENT | | | TOTAL | 1289.00 |
| | | | | TAX | -0- | | |
| To Allied Cemen | ting Co. | , Inc. | | | | # | 7119.22 |
| You are hereby re | equested | to rent cei | menting equipment | TOTAL CHA | 4.4 | | |
| and furnish cementer and helper to assist owner or | | | DISCOUNT | \$1423.8 | 3.5 IF PAI | D IN 30 DAYS | |
| contractor to do v | vork as i | is listed. T | he above work was | | | | |
| done to satisfaction | on and s | upervision | of owner agent or | | ~ | + 1/2. | 95,37 |
| contractor I have | e read & | understan | d the "TERMS AN | D | <i>[</i>] L | 4 56 | 95,37 |